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Model Question
Based on the New Specification Grid 2071
(Reading and Writing)

Subject: English

Time: 2 hrs. 15 minutes

Maximum Marks: 75
QGrade: X

Candidates are required to show creativity in the answers wherever applicable. The

figures in the margin indicate full marks.
1. Read the following text and do the tasks that follow. 5

Human Trafficking

Victims are trafficked within a country or transnational. They are smuggled because
they are forced to work as prostitutes, domestic servants, beggars, factory workers,
mine workers, circus performers and child soldiers. It is like another form of slavery.
The majority of trafficking victims are women and children because of their margin-
alisation in many societies and their limited economic resources. Besides them, other
key target groups include people from low income households, ethnic minorities,
illiterate or people with low level of education, refugees, illegal migrants, children
running away from home, and other. Members of split families are also prone to it.
Women of forced marriage and early marriage, deserted wife, widows and discrimi-
nated daughters are easily victimised.

Traffickers prey on the most vulnerable members of society. In order to deceive first,
they take help of local people to identify such families. They may provide economic
incentive and financial loans to their friends, relatives, family, spouse or even par-
ents. At times, most victims are lured to promises of better jobs or well paid job in
cities, false marriages and proposals, easy money, dream of sophisticated life and
other. Victims of earthquakes, floods, wars and epidemics can be easily smuggled.

A. Match the words in column A ( taken from the text) with their synonyms in

column B: 3x1=3
Column A Column B
a. victim 1. exile
b. refugee i1. sufferer
c. vulnerable iii. weak
1v. excited
B. Answer the following questions. 2x1=2
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a. Why do women and children belong to the category of main trafficking
victims?

b. Mention any two strategies that the traffickers use to deceive the most vulnerable

members of society.

2. Read the following text and do the tasks that follow. 10
Parents

“Dad! I'm going to meet my e-mail friend.”

“When?” I asked.

“Now.”

“I’'m coming with you.”

“No, I’'m going alone.”

“Look, Anuja...”

“You are obsessed dad. Nothing is going to happen to me.”

Anuja, my daughter is only 13. She spends most of her time on computer chatting with
her friends and sending e-mails. She has many e-friends. A couple of days ago she told
me about her new e-friend. She is 12 and Anuja is very fond of her. And now she is
going to meet her. [ warned her about bad people who fake themselves as teenager, chat
with girls like her and seek opportunities to take advantage of innocent girls. But she
doesn’t listen to me. She thinks I am an old man who is over protective of his daughter,
a man who sees ghosts in every dark corner. “Look, honey. I'm not saying you can’t
meet your friend. All I’'m saying is let me come with you. I will not out of the car first
and if I see a girl of 12 waiting, I’ll do some window shopping and you can go and meet
her. But if there is no girl, we will wait for 10 minutes and then come back. OK?”

“This is ridiculous.” She stamped her feet.

“Why? Is it because I’'m 60 years old? Or is it because I’ve a big belly? Or because
there are no hair on my head that you’re ashamed of going out with me?” I tried to
joke.

“Oh Dad, you’re impossible.”

“You look like a boy in your new outfit.” On the way, I commented on her dress.
“Dad! I think I must tell you something.”

“I’m listening.”

“I’'m not a girl... I mean I’m not a girl for the girl... I mean the friend I am going to
meet.”

“You lost me.”
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“Sorry. What I want to tell you is that I chatted with her as a boy.”

“You mean you pretended to be a boy to this girl?” I stared at her and the car
swerved a little which I controlled.

“Yes, she knows me as a boy.”

“God!” I tried to digest this new information.

A. Put the following sentences in the correct order as they occurred in the

story. 5x1=5
a. Her father wants to go with her but she does not want him to go with her.
b. The father tells her that she looks like a boy in her new clothes.

C. Anuja wants to meet her email friend.

d. Anuja reveals with her father that she pretended to be a boy to her email
friend.

e. Anuja finally accepts her father going with her.

B. Answer the following questions. 5x1=5
a. How does Anuja spend most of her time?

b. How old is her new e-friend?

C. Why did Anuja’s father warn her about bad people?

d. Write any two physical characteristics of Anuja’s father.

e. What did Anuja tell her father on the way ?

3. Read the following news story and do the tasks that follow. 10

Govt to construct four-lane bridge over Mahakali River
CHITRANGA THAPA, MAHENDRANAGAR

Mar 2, 2017- The government is going to build a four-lane bridge over Mahakali
River that borders Nepal and India in Kanchanpur district.

The bridge will be constructed under the Road Upgradation Project of the
Department of Roads (DoR). India’s EXIM Bank is said to provide a soft loan to
build the bridge. The undertaking is expected to cost Rs 4.5 billion.

On Tuesday, Physical Infrastructure and Transport Minister Ramesh Lekhak
inaugurated the Mahakali Bridge Construction Project Office at Mahendranagar.
Speaking on the occasion, he said the bridge will widen the Nepal-India economic
ties.

The town of Dodhara Chandani, which is connected to the bordering Indian town
via suspension bridge, could develop into a major border town with the motorable
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oridge, the minister added.
DoR Director General Devendra Karki said the proposed bridge will be 800-metre
long with 16 spans.

The construction works will begin shortly, he said, adding that the Detailed Project
Report has already been completed and the project officials are presently working
on tender documents.

The project chief, Sunil Babu Panta, said the bridge would be constructed 2.5 km
upstream from Dodhara-Chandani suspension bridge.

A. Fill in the blanks with appropriate words/phrases from the news story.Sx1=5

a. This news story was published on ..........

b. The Mahakali Bridge Construction Project Office was inaugurated by ..........
C. The townof.......... could develop into a major border town after the construction
of the bridge.

d. Devendra Karki is the Director General of .........

e. Project officials have already completed the ..........

B. Answer the following questions. 5x1=5

a. Which district of Nepal will be linked with India by the bridge?

b How much cost is expected to build the bridge?

c What DoR stand for?

d. When was the Mahakali Bridge Construction Project Office inaugurated?
e. According to Devendra Karki, how long will be the proposed bridge?

4. Read the following story and do the tasks that follow. 15

A woman was waiting at an airport one night, with several long hours before her
flight. She hunted for a book in the airport shops, bought a bag of cookies and
found a place to drop. She was engrossed in her book but happened to see, that the
man sitting beside her, as bold as could be, grabbed a cookie or two from the bag
in between. She tried to ignore to avoid a scene. So she munched the cookies and
watched the clock, as the gusty cookie thief diminished here stock. She was get-
ting more irritated as the minutes ticked by, thinking, “If I wasn’t so nice, I would
blacken his eye.” With each cookie she took, he took one too. When only one was
left, she wondered what he would do.

With a smile on his face and a nervous laugh, he took the last cookie and broke
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it in half. He offered her one of the halves and ate the other. She snatched it from
him and thought, “This guy has some nerve and he’s also rude. Why he didn’t
even show any gratitude!”

She had never known that she had been so galled and sighed with relief when her
flight was called. She gathered her belongings and headed to the gate, refusing to
look back at the thieving ingrate. She boarded the plane, and sank in her seat, and
then she sought her book, which was almost complete.

As she reached in her baggage, she gasped with surprise, there was her bag of
cookies, in front of her eyes. “If mine are here”, she moaned in despair, “the oth-
ers were his, and he tried to share.”

Too late to apologize, she realized with grief, that she was the rude one, the in-
grate, the thief.

A.Aspertheinstructionsbelow,suggestawordfromamongtheunderlinedonesinthe

text. 5x1=5
Q. —--mmmmmmmm is the antonym of increased.

b. We can use the word ------------- instead of many.

I gives the opposite meaning to pleased.

d. - means thankfulness.

e. When we have no hopes we are said to be in ------------------ .
B. Answer the following questions. 5x1=5
a. What two things did the lady buy at the airport?
b. Why do you think the man must have been surprised?
c. How was the last cookie eaten/
d. Why did the woman think the man was rude?
e. Did the woman apologize for her mistake? Why not?

C. Put the following sentences in the correct sequence so that they make the
summary of the story. 5x1=5

a. A man with a bag of cookies was sitting next to the woman.
b. Both the man and the woman ate the cookies from the same bag.

c. The woman realized her mistake as she found her cookie bag safe after boarding
the plane.
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d. A woman was waiting for her flight reading a book.
e. The woman was, in fact, the ingrate which she thought the man was.

5. One of your class friends has won ‘The Best Player Award’ in the Regional
badminton tournament and is selected to play in the national level. Write a
message of congratulations to be published in a newspaper on behalf of your
school family. Use the clues given below. 5

Clues: Rabi Dhami ------------- best badminton player at school--------- deserved the
award----------- the result of his hard work and sincerity --------- all proud of him----
---------- wish further success ------------- make the nation feel proud

6. Develop a story using the skeleton given below. Also give a suitable title to
your story. 5

tow frogs live in a marsh --------- no rain for a long time -------- marsh dries up
--------- life difficult for the frogs -------------- decide to look for cool and watery
place -------------- find a well with water ------------ one frog wants to jump in it
-------- the other stops him ---------- what he will do if the well dries -------------- can’t
CONvince ------------- the first one jumps in ---------- the other lives outside with a dif-
ficulty ------------ soon the well dries --------------- the one in the well can’t jump out
---------- dies there --------------- the other outside survives ----- the rains come and
he starts living happily.

7. Write a dialogue between two friends who are planning for a picnic. Write at
least six exchanges. 6

8. Write a letter to the Editor of a local newspaper complaining about ‘The
Bad Condition of the Road in Your Area’. Request him/ her to publish your
letter in the newspaper so that the interest of the concerned quarters can be

drawn to the issue. 8
9. Reproduce the following sentences as directed in the brackets. 6x1=16
a. Don’t open the door,---------------- ? (Add a suitable question tag.)

b. Do not go there at once. (Change into affirmative.)
c. Kapil visits his parents once in a week. (Change into How often ... question.)
d

By the end of June this year, Sima ....... her M.A. in English literature. (Use
the correct form of verb ‘complete’ in the blank space.)

o

The head teacher asked, “How old are you, Gaurab?”’ (Change into reported speech.

f. They are constructing a new bridge over the Bagmati River. (Change into
passive voice.)
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10. Choose and copy the best answers for the numbered blanks below. (Rewriting

is not compulsory.) 10x0.5=5
Once there was ---1---- (the/an/ a) ----- fox. He lived in a jungle. There also lived a
crane. The crane and the fox ----2---- (was/ were/ are) ---- great friends. They visited
each other’s home now and then. One day, the fox invited the crane ---3----- (in, on,

to) ----- dinner. He ----4-- (has put/ puts/ put) ---- the soup in a flat dish. The crane had
a long beak. He could not take any of the soup. The fox finished licking his dish and
asked the crane, “How ----- 5---- (was the food/the food was/ the food is ) ----?”. The
crane said it was very nice. In fact, it was really upsetting to the crane, ---6---- (isn’t
it, didn’t it, wasn’t it) ------ ? The crane felt insulted. He wanted to take revenge. The
next week, the fox ---7------ (invited/ will invite/ was invited) -------- to dine with the
crane at his home.

The crane served boiled rice in a jug ----- 8---- (because, so that, in order to) ---- the
fox could not reach the food. The jug had a very narrow neck. The fox could only smell
the rice. Its head wouldn’t go inside the jug. The crane enjoyed the food very much. In
this way the crane made the fox ------ 9---- ( felt/ feel/ to feel) sorry for his behavior.
If the fox had fed the crane well, the crane ----- 10---- (did not insult/ would not insult/
would not have insulted) ----- the fox.

THE END
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Model Question
Based on the New Specification Grid 2071
(Listening)

Subject: English Maximum Marks: 10
Time: About 20 minutes Grade: X

Task 1

You are going to hear pre-boarding announcement made at the airport. First you will
have one minute to study the tasks below. Then you will hear the announcement
twice with a gap of 30 seconds between the plays. While listening, fill in the blank
spaces with appropriate words/phrases from the audio. After the second listening, you
will have 30 seconds to check your answers. There is an example at the beginning.
4x1 =4

Example: The announcement is for flight 89B.

a. This boarding announcement is for the passengers who are going to ..........

b. Passengers .......... and those who require special assistance are invited.
c. Passengers are requested to make their .......... and identification ready.
d. Regular boarding will start in about .......... minutes.

Script of the sound file:

Pre-boarding announcement

Good afternoon passengers. This is the pre-boarding announcement for flight 89B
to Rome. We are now inviting those passengers with small children, and any pas-
sengers requiring special assistance, to begin boarding at this time. Please have
your boarding pass and identification ready. Regular boarding will begin in ap-
proximately ten minutes time. Thank you.

Link for the audio:
https://www.englishclub.com/english-for-work/airline-announcements.htm
Conversation 1

Task 2

You are going to hear a conversation between a receptionist and a customer who
is making a hotel reservation. First you will have one minute to study the tasks be-
low. Then you will hear the conversation twice with a gap of 30 seconds between
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the plays. While listening, complete the table below with maximum four words
from the audio. After the second listening, you will have 30 seconds to check your
answers. There is an example at the beginning. 4x1 = 4

Name of the caller: John Sandals
a. | Name of the receptionist:
b. [ The caller plans to live in the hotel:
c. | The price of the hotel per night:
d. | The area code:
Script of the audio file
A: Hi there, I want to reserve a hotel room.
B: No problem at all. Could I have your full name, please?
A: Sure, John Sandals.
B: Hi, Mr. Sandals. I'm Michelle, at your service. When do you need the room?
A: My plans are to be there April 14th to the 17th.
B: We have new room rates, sir. Will that be acceptable to you?
A: It depends on the price, of course. What is it?
B: It’s $308 a night.
A: I have no problem with that.
B: Great! Would you prefer smoking or nonsmoking?
A: Definitely nonsmoking. I can’t handle that smell.
B: Nonsmoking. Now, is a queen-size bed okay?
A: No problem.
B: Great, Mr. Sandals. Your reservation is confirmed. Now all I need is your
phone number.
A: Of course! It’s area code 626-555-1739.
B: Thank you so much, Mr. Sandals. We look forward to seeing you!
Link for the audio:
http://www .eslfast.com/robot/topics/hotel/hotel01.htm
Conversation 2

Task 3

You are going to hear a few sentences. Listen to the audio or your teacher and
write the intonation pattern of the sentences you hear. There is an example at the
beginning. 05x4=2
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Sentence Intonation Pattern
Example Falling
1.
2.
3.
4.
Sentences

Example: Write your name here. (Falling)

a. Nice to meet you.

b. May I borrow your English book ?

c. Do you like tea or coffee ?

d. Where are you going ?
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Model Question
Based on the New Specification Grid 2071
(Speaking)

Subject: English Maximum Marks: 15
Time: About 15 minutes per student Grade: X

Note: Study the sheet carefully before you start speaking to your test-monitor.

General icebreaker questions to make the students feel comfortable. (Not used for
marking.)

a. Good morning/afternoon. How are you?

b. Please give me your short introduction.

C. Which subject do you like the most? And why?

Task-1

General interview questions on personal /familiar /common topics. 3x1=3
a. Could you tell me about your family?

b. Why did you choose to study in this school?
c. What do you like doing when you have free time?
Task-2

Here is the chart showing average rainfall during the months of the Monsoon
at Khumaltar of Lalitpur. Study the information and interpret the chart. Use at

least 8 sentences. 8x0.5=4
Average Rainfall at Khumaltar during the

S Monsoon
2
g 300
S 2% b
Q
£ 200
5 150
= 50
- L
g Jun JuL AUG SEP

H RAIMFALL (M) 125.2 281.4 2297 16.5
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Task-3

A. Suppose one of your friends says that he/she is suffering from cold and asks
you for some advise. What would you suggest him/her to do. Use at least two sen-
tences. 2x1=2

B. You are helping someone to get to IOM office from Bhatbhateni Super Market.
Study the map and speak out at least two correct sentences so that the person gets to
the office with your help. 2x1=2

Maharajgunj

Bhatbhateni
Super Market

Task-4
Choose one of the topics below and speak at least 8 sentences on it. You have 1
minute time to think before you start speaking. 8x0.5=4

a. Games and Sports
b. Living in a Village
c. Earthquake

The End
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Marking Scheme
(Reading and Writing)

Subject: English Maximum Marks: 75
Time: 2 hrs. 15 minutes Grade: X
1. A. This question carries 3 marks. Award 1 mark for each correct answer.

1. B.

2. A.

2.B.

kA1

Answers
Column A Column B

victim sufferer
refugee exile
vulnerable weak

This question carries 2 marks. Award 1 mark for each correct answer.

Answers should be given in full sentences. Minor grammatical mistakes
should be considered.

Answers
a. Women and children belong to the category of main trafficking victims

because of their marginalisation in many societies and their limited eco-
nomic resources.

b.  Two strategies that the traffickers use to deceive the most vulnerable mem-
bers of a society are:

- taking help of local people to identify vulnerable families and

- providing economic incentive and financial loans

This question carries 5 marks. Award 1 mark for each sentence in order.
Answers

1. ¢ Anuja wants to meet her email friend.

2. a. Her father wants to go with her but she does not want him to go with her.
3 e. Anuja finally accepts her father going with her.

4 b. The father tells her that she looks like a boy in her new clothes.

5 d. Anuja reveals with her father that she pretended to be a boy to her email
friend.

This question carries Award 1 mark for each correct answer. Answers

should be given in full sentences. Minor grammatical mistakes should be

considered.
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Answers

a.

Anuja spends most of her time on computer chatting with her friends and
sending e- mails.

Her new e-friend is 12 years old.

Anuja’s father warned her about bad people because they can fake them-
selves as teenager and take advantage of her innocence.

Two physical characteristics of Anuja’s father are given below:
- He has a big belly.
- There are no hair on his head.

On the way Anuja told her father that she pretended to be a boy while chat-
ting with her e-mail friend.

3. A. This question carries 5 marks. Award 1 mark for each correct answer.

Answers

a.
b.

This news story was published on Mar 2, 2017

The Mahakali Bridge Construction Project Office was inaugurated by
Physical Infrastructure and Transport Minister/Ramesh Lekhak.

The town of Dodhara Chandani could develop into a major border town
after the construction of the bridge.

Devendra Karki is the Director General of the Department of Roads.
Project officials have already completed the Detailed Project Report.

3.B: This question carries 5 marks. Award 1 mark for each correct answer. An-
swers should be given in complete sentences. Minor grammatical mistakes
should be considered.

Answers

a.  Kanchanpur district

b. 4.5 million rupees

c. the Department of Roads
d.  On Tuesday

e. 800 metres

4. A: This question carries 5 marks. Award 1 mark for each correct answer.
Answer

a. diminished

b. several
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4. B:

c. irritated

d. gratitude

e. despair

This question carries S marks. Award 1 mark for each correct answer.

Answers should be given in complete sentences. Minor grammatical mis-
takes should be considered.

Answers

a. Kanchanpur district of Nepal will be linked with India by the bridge.
b Rs 4.5 billion cost is expected to build the bridge.

c. DoR stands for Department of Roads.
d

The Mahakali Bridge Construction Project Office was inaugurated on
Tuesday.

e.  According to Devendra Karki the proposed bridge will be 800-metre
long.

4. C: This question carries 5 marks. Award 1 mark for each sentence in the cor-

%

rect sequence.

Answer

1. d. A woman was waiting for her flight reading a book.

2. a. A man with a bag of cookies was sitting next to the woman.

3. b. Both of the man and woman ate the cookies from the same bag.

4. c. The woman realized her mistake as she found her cookie bag safe after
boarding the plane.

5. e. The woman was, in fact, the ingrate which she thought the man was.

This question carries S marks. Award marks considering the following as-
pects:

° Content/subject matter - 2

° Organization/coherence/cohesion - 1

° Correctness of language - 1

° Layout and format 1

This question carries 5 marks. Award marks considering the following as-
pects:

° Content/subject matter - 1

° Organization/coherence/cohesion - 1
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o Correctness of language - 1

° Orthographic convention (spelling, punctuation, handwriting, wording,
numbers, etc.) 1

° Creativity and originality 1
This question carries 6 marks. Award marks considering the following as-
pects:

° Each exchange 0.5 mark - 3 marks
° Coherence or sequence - 2 marks

° Correctness of language - 1 mark

This question carries 8 marks. Award marks considering the following as-
pects:

° Content 2 marks
° Organization 2 marks
° Correctness of language 1 marks

° Orthographic convention (spelling, punctuation, handwriting, wording,
numbers, etc.) 1

® Format/layout of the letter 2 mark

9. This question carries 6 marks. Award 1 mark for each correct answer.

10.

Answers

a. Don’t open the door, will you ?

b Go there at once.

c.  How often does Kali visit his parents?

d By the end of June this year, Sima will have completed her M. A. in Eng-
lish literature.

e. The head teacher asked Gaurab how old he was.

f. A new bridge was being constructed by them over the Bagmati river.

This question carries 5 marks. Award 0.5 mark for each correct answer.

Answers
(1)a (2) were (3) to (4) put (5) was the food (6) wasn’t (7) was
invited (8) so that (9) feel (10) would not have insulted
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Marking Scheme
(Listening)

Subject: English Maximum Marks: 10
Time: About 20 minutes Grade: X

Task 1

This question carries 4 marks. Award 1 mark for each correct answer. Minor
grammatical errors should be considered.

Answers
Example: The announcement is for flight 89B.
a. This boarding announcement is for the passengers who are going to Rome.

b. Passengers with small children and those who require special assistance are in-
vited.

c. Passengers are requested to make their boarding pass and identification ready.
d. Regular boarding will start in about ten minutes.
Task 2

This question carries 4 marks. Award 1 mark for each correct answer. Minor
grammatical errors should be considered.

Answers
Name of the caller: John Sandals

a. |Name of the receptionist: Michelle

b. |The caller plans to live in the hotel: April 14 th to the 17 th
c. | The price of the hotel per night: $308 a night

d. |The area code: 626-555-1739

Task 3

This question carries 2 marks. Award 0.5 mark for each correct answer.
Answers

Sentence Intonation Pattern

Example Falling

1. Falling

2. Rising

3. Rising - Falling

4 Falling
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Marking Scheme
(Speaking)

Subject: English Maximum Marks: 15
Time: About 15 minutes per student Grade: X

General icebreaker questions to make the students feel comfortable. (Not used
for marking.)

This task is for making the students feel comfortable and therefore ask some general
questions on the topics familiar to the students. Do not use this task for marking.
Task 1

This task includes 3 general questions carrying 1 mark each. Award marks consider-

ing the aspects such as: pronunciation, fluency, stress and intonation, accuracy, ap-
propiracy, vocabulary, etc. Answer varies from student to student.

Task 2

This task carries 4 marks. Award marks considering the aspects such as: sentence
structure, pronunciation, fluency, stress and intonation, accuracy, appropiracy, vocab-
ulary, etc. Answer varies from student to student. Encourage the students to speak out
at least 8 sentences.
Sample sentences

a. The chart shows the average rainfall at Kathmandu during the Monsoon.

b. The vertical axis shows the rainfall in millimeters and the horizontal axis shows
the months.

c. According to the chart, the average rain fall in June was 125.3 millimeters.
d. The highest rainfall was in the month of July. It was 281. 4 millimeters.

e. The chart displays that the lowest rainfall was in September and it was 46.5
millimeter

This task has two questions carrying 2 marks each. Award marks considering the as-
pects such as: sentence structure, appropriateness of language function, pronunciation,
fluency, stress and intonation, accuracy, choice of words, etc. Answer varies from
student to student. Encourage the students to speak out at least 2 sentences for each
question.
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Sample answer
A. a. You should take hot water.

b. Why don’t you take water steam?
B.

Now you are at Bhatbhateni Super Market. Go along this road to the north
until you meet a junction. Turn right at the junction and go straight ahead until you
reach Baluwatar. You will see a cross road there. Do not take turn at the cross road. Go
straight ahead to the east until you meet a junction. Turn right at the junction and ...
Task 4
This task carries 4 marks. Award marks considering the aspects such as: sentence
structure, pronunciation, fluency, stress and intonation, accuracy, choice of words, etc.

Answer varies from student to student. Encourage the students to speak out at least 8
sentences.
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wreAtaer RTeT 98T (SEE)
&l - 90
THAT JEAYT - R09¥

faerar « sifrard It Compulsory Mathematics quiis : 100
THT ¢ 3:00 =roar
I I 89 e | Attempt all the Questions.

qHg & (Group A) [3 x (1+1) = 6]

1. (a) ar&dfa® Fe ¥ A3fhd Hd [GSUHI ATHAHT G IiAqd I a3 I
Tetary |

Write the formula for finding the rate of discount when discounted
amount and marked price are given.

(b) TIaT TRl AT ‘@’ THE AUH T3l GHATG [AHSTH &THA HA &7 7

What is the area of an equilateral triangle whose one side is ‘a’ unit
long ?

2. (a) AT V/x=9 T x FI AF Il MG |
Find out the value of x, ifyx= 9.
(b) T fegURT TATGHAT AHHT TH T TCTR |

In the following data write down the series where the median lies.

X |20-30 [30-40 |40-50 |50-60 |60-70

c.f. 16 36 61 77 80

3. (a) USE WUR ¥ SEI GHMIR I@e&ad el GHMEIR A T st
STkl G & g ! elery |

Write down the relation between the area of a parallelogram and a
triangle standing on the same base and between the same parallel lines.

(b) faguer F==AT O sl &= &1 A X & HIF H(d 575 7

In the given figure if O is the centre of the circle

then what is the value of x ?
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9HE ¥ (Group B) [4 x (2+2) + 3x(2+2+2)= 34]

4.(a) %2700 AT 13% WA AWAIg F ST ATIT THA ¥.3060 F=T Hial dqel

(b)

T

How much more is Rs. 3060 than the value including 13% VAT in
Rs. 27007

Tk ST fFarel %.400000 AT fhel TIaT CATHT el THT FATIRX 10% i
Y A BT T o= | A aATdeRH 2 AW UfSH Hed F(q g 7 Tl
TSI |

A farmer bought a tractor for Rs 400000 and sold it after using some
time at 10% depreciation rate per year. What is the cost of the tractor
after 2 years?

5.(a) 3=mE 1 TH. WU TSIl dAATER el AT 1500 faey 9l erss |

(b)

(c)

IHT TATGHIR] ATIR TATSA H(q a0 [HeR dTd ATTLIF I8, 7 Il STl |

The capacity of a cylindrical metal tank of height 1 m. is 1500 liters.
How much square metres of metal sheet would be needed to make its
base ?

Iie Yl AT ‘X cm’ AUHT 27 ATl Il e TeR ‘y cm’ ST
AUl TIT Al T84T A X 1 y bl A Jocll ARS8 |

If 27 metalspheresof radius x cm’ each are melted to form a single
sphere of radius ‘y cm’. Find the value of the ratio x : y.

T3l Tell ATHRHN dreehl Ggb 3o 10m ¥ AIRFT FATAE 7m G | I
T FAT3T +.300 9fq a9 fH. &7 T3l HUST MG el STHT B @9 ARG, ?

The slant height of a conical tent is 10m and the radius of its base is 7m.
Find the cost of cloth required to prepare the tent at the rate of Rs. 300
per square meters.

6.(a) H.9. Yool «Meerd | Find the HCF of : (x* - xy?), (x - y).
(b) &% T8 | Simplify /125 -/45 +/5

7. (a) A9 9ot @S e¥ | Evaluate :

LY

146 x 155
356 x 65

(b) .. 9l W3=erd | Find the LCM of :p? + 2pq + g2, pg? + p?q
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(c) Afe 3 Tl ASAE®EH ARTHA 128 ¥ [THeER H¥Fk 16 G 97 Al dgeeeE
qedl TRMSer |

If the sum of two numbers is 128 and their difference is 16 thenfind the
numbers.

8. (a)fe=HIAE // DF T AE & #aufa B D C F
@ | AEAAEF #1 dee 20 & a6y %
AU AR Fqq ABCD &1 &%
Hi §g 7 Il AR | o — . ’

In the given figure, AE // DF and B
is midpoint of AE. If the area of AAEF is 20 square centimeters, then find
the area of parallelogram ABCD.

(b) feguer FEATABCD U3er =g Iq{s &l | afs LADE N
=75°97 ZADCY ZABC & |9 Il A SR | E D C
In the given figure, ABCD is a cyclic quadrilateral. A B
If ZADE = 75° then find the value of ZADC and
ZABC.

(c) feguar gcaar AB el w@1, BC =49 ¥ ZBAO = 32° C
WT ZAOBF W el aRSTE | ‘
In the given circle, if AB is a tangent, BC is ‘
diameter and ZBAO = 32° then find the value of A AA
ZAOB. B

A

9.(a) f==¥T AB = 8cm, BC = 6cm T AABC &1 &@%d 12 cm? ®
AT ZABC &1 | Tcdl SS-ed | %,
In the given figure AB = 8 cm, BC = 6cm and area of
AABC is 12cm?. Find the value of ZABC. C—%6cm B
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(b)

U3el =y Sofmr afs qegs = 25, aRFERArw IiEd (N) = 55 + a ?
ARFRAT ¥ HFHAR! TUARAR] RS >fm = 1345 + 26a 9T a & €1
[HepTeTa e |

In a continuous series, if mean = 25, sum of frequencies (N) = 55 + a and

sum of product of frequency and mid value >.fm = 1345 + 264, then find
the value of a.

10. (a) TSl S 35 Tdh Bl dfedl 9k 5 T T[T Takh [aeiR Fgedm arsd

(b)

11.

12.

4%

>

HETAAT Ycdl d‘lld’ié\l%l\ |

If adice is thrown two times, find the probability of the outcomes be 5 in
the first through and an odd number in the second through.

T3l ATHAHT IeT ATHRH a9 3ATar AT T g5 AT JaT aode® AEUH S |
THIMG, TH TR T3 ATl Toe® (9 : AN (Hebreat [ar T Jar Joes qrg
AT ATATS g Fo=HT s erd |

Three red and two white balls of the same size are kept in a box. Show

the probability of getting red and white balls in the tree diagram of two
draws one after the other without replacements are made.

HE T Group C [10 x 4 = 40]

150 ST AR TF T 120 SAATS Afdad ¥ 85 SATATE Head ded A7
75l WW | AfE 25 SATATE T U G God A T&T TEAS, T

In a group of 150 people, 120 like to play volleyball, 85 like to play
football and 25 like none of the games :

i. W TATGHATS 99 AT W8T |

Show the above information in a Venn-diagram.

ii. Hq TATAE TT T Yol AT TERES, 7

How many people like to play both the games?
iii. i SIS AiAEe A A 9RT R 7

How many people like to play volleyball only?

TSl TSIl AfFd HeaHT 20% Fe a5 13% T Afvalg ¥ afeqd aeid I
%904 9AT AT |l TSIHT AG(hd A (MFeel |
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13.

14. I T | Simplify i

15.

16.

17.

18.

If after allowing 20% discount and levying 13% Value Added Tax (VAT),
the value of a watch will be Rs.904 then find the marked price of the
watch.

T3Sl AT 10 Rl §5 TRF TR GTH (ASMHR FISTH TheE Sile?
FATSUH G | FoAH Tl 719 15cm, 41cm ¥ 28cm 9T & GAT aA13d B
FAST =AMMevg, 7 AT 1em? FISTH T & 0.50 TG 9 STHHT FISTH o il
TE 7 gedl ATS ey |

An umbrella is made by stitching 10 triangular pieces of cloth of two
different colors, each piece measuring 15cm, 41cm and 28cm. How
much cloth is required for the umbrella? If the cost of 1cm? is Rs. 0.50,
find the total cost of cloth.

1 1 2
2-3a+2 a?-5a+6 a?-8a+15

UIEl AWATHR @ 16m &Ml ¥ 10m =el & | Iod Fdbl aRui =eiay

120m? &Re ¥ THIHIT =STE TUH qTal G | STl =g Tl AMSTE |

A rectangular field is 16m long and 10m wide. There is a path of
uniform width around from outside it having area of 120m?. Find the
width of the path.

TId AR T JEI UM @S adl A s PQRS
PSTN & &% sRTeR &eeg WAl JHIT Tl |

Prove that the area of parallelogram PQRS and PSTN standing on the
same base and the same parallel lines are equal.

AB = BC = 5.5cm, CD = DA = 45cm ¥ ZA = 60° &% IIq°st ABCD I 7=
THe™ | ISt ABCD %1 &R aRTaR g9 TIAADE %1 T=HT TR |

Construct a triangle ADE equal in area to the quadrilateral ABCD in
which AB = BC = 5.5cm, CD = DA = 4.5cm and £A = 60°.
FIAFN TS AT AB AT ATIMRT F=ia #1T AKB dikfaspior ACB %1 3R &7
AT JANTCHS qReurEre f9g THerd | (FRE 3 4.7 e quesr geeiier
FAEE ATAITF T 1)

Verify experimentally that angle AKB at the centre is twice the inscribed
angle ACB subtended by the same arc AB. (Two figures with at least 3
cm radii are necessary)
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19.

20.

ii.

T3l JATHER @R H5AT IRl GaeHnd 11.62m 6l G S | 9@l
fepemeTeRT B favgaTe 1.62m AT W@ @Il T FAATR T GeIael
PO 60° UTSH A= |1 Jr@<Ihl ATH Tedl A3l |

At the centre of a circular pond, there is a pole of 11.62m height above
the surface of water. From a point on the edge of the pond, a person of
height 1.62m observes the angle of elevation of the top of the pole and
found it 60°. Find the diameter of the pond.

w4 e fqadews g favmer HEOTERE agE W TE B |
J9aTe,

Following are the marks obtained by students in a mathematics
examination.

15,12, 23,35,46,57,18,12, 39,51, 32, 43, 25, 59, 18, 38, 45, 40, 32, 33
10 1 FfT A=A g T aRFERAT T TATSIerd |

Make a frequency table of class interval 10.

TGT =TT IeqT AR |

Find the third quartile.

qHe ¥ (Group D) [4 x5 =20]

2132000 & a9 au®l 10% WdqausT o gd ATSd ahg AT %3000 Fr

22.

{5

[s C

TRAUHT 8% WiqaUdT ST g AT ATIRUT ATSIART i IAqTA &l T,

e ERICHEEE
By what percent the yearly compound interest on Rs. 2000 for 3 years
at 10% p.a. is more than the simple interest on Rs. 3000 for 2 years at
8% p.a. Find it.

YTl DI SIeHTH! [qaTe HIoTehl T 150 ATaATg a0 T | o e
fhepT AT AFTAT 4 a9 H3E T 9rE = 20 =7 9. g =nfews wv @1
a7EH IATS Bl &g ? dcdl AMS Al |
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In a marriage ceremony of Pemba’s daughter there was arrangement for
accommodation of 150 persons. For this purpose he plans to build a
conical tent such that each person must have 4 sqm. of the space on
ground and 20 cubic m. of air to breadth in average. What should be the
height of the tent? Find it.

23. 7T a+b+c=0 9T FANC TR

1 1

1
Ifa+b+c=0,provethat: T~ 5+ 7T b, et Trgcra L

24. fegu®l fo=Hr afe aq@r &= fag 0, =@ AB ¥ DOLAB ¥U
ZAEC = ZODA &5 AT {48 T2 |

In the given figure if O is the centre of the circle, AB is the
diameter and DO L AB then prove that ZAEC = ZODA.
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oo : sfqema wforg e

I FHf STl
(Marking Scheme/Scoring Key) - 2074

qUlTgek : 900

~ ~

JHYT : 3:00 "var

q0

Q.No. Description Marks
Group A 3x(1+1)=6
1. (a) . discount amount 1
Rate of discount = , x100%
marked price
(b) 3 1
Area of equilateral triangle = 34[ a® square units
2.(a) |x=81 1
(b) N 80
Here,; =— =40<61
2 2 1
So, median class is 40-50
3.(a) | Area of the parallelogram =2 x area of the triangle 1
(b) 1 o .
X° = 2 x60°(inscribed angle is half of central angle
1
standing on same arc.)
Or, x° =30°
Group: B [4 x (2+2) + 3x(2+2+2) = 34]
4.(a) . , . 13
(i) Value including VAT = Rs.2700 + 100 xRs.2700
=Rs.3051 1
(ii) Rs.3060 - Rs.3051 =Rs.9
..Required value is Rs.9 1

0
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(b)

() S=V(1-7 "

S = 400000 (1 ﬁ)z
or, = ~100

(i) S=400000 = 0.81
=324000
Price after 2 years is Rs 324000

5.(2) | (i) Volume = base area x height
Or, 1500/1000m3= base area x 1 m
(ii)  1.5m? =base area
Hence 1.5 m? metal is required to prepare the
base.
(b) (i) Here 27x % x> = %ny3
Or, 27x3=y?
(ii) 3x=y
or X1
'y T3
Sox:y=1:3
(©) (i) CSA of cone =mrl

22 5
=7><7><10m

=220 m?
(ii)  Costrequired = Rs. 300 x 220
=Rs. 66000

faferediaeor aiferar, #&T 90

«1



6.(a) | (i) First expression =x3 - xy?
=x(x*-y?)
=xX(x-y) (x+y) 1
(ii) Second expression =x-y
.. HCF =X-y 1
(b) | (i) Here ~[125-/45+/5
- 55 -3V5 ++F 1
(i) =6\5-3\5
1
=35
7.(a) | . 146 x 155 (&)6 (1_5)5
M 35exes =(35) e
HEE)
=\5) *2
1
2 6 2 -5
(i1) = (5) ~ (sj
2)6— 5
_ [5
2
-5
1
(b) (i)  p*+2pq+q* = (p+q)?
pg*+p?q= pq(p+q) 1
(if) LCM =pq (q + q)° 1
(©) Let the numbers be xand y (x > y)
x+y=128 ........... i
X=V=16 ccoriiirenns ii

%R
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2x = 144 (adding i and ii)
or, x=72
Now,y =128 -72
=56
x=72,y=56
8.() (i) Here, area of AABF :%x 20 cm? = 10 cm? [FB bisect
the area of AAEF]
(ii)  Againarea of ABCD =2 x area of AABF
=2x10 cm®
=20 cm?
(b) (i) ZADE + ZADC = 180° [Being linear pair]
or, 75°+ ZADC = 180°
or, ZADC=180°-75°=105°
(ii) ZADC + ZABC = 180° [Being opposite angles of cyclic
quadrilateral]
or, 105° + ZABC =180°
or, ZABC =180°-105°=75°
() (i) ZABO = 90° [angle between radius and tangent at
point of contact]
(ii) Z0AB + ZABO + ZAOB = 180° [Being sum of
interior angles of a triangle]
or, 32°+90°+ ZAOB = 180°
or, ZAOB =180° - 32°-90° =58°
%@ 1) Areaof AABC = %AB « BC sin B
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1
or, 12cm2=§><8cm><6cmsinB
or, ﬁ:sin B,or1/2 =sinB
1
or, sin 30° =sin Bor B =30°
b _ pi
® Ty % ==
95 = 1345 + 26a
or, = 55+a
or, 25(55+a)=1345+26a
1
(ii) or, 1375+ 25a=1345 + 26a
or, 1375 -1345=26a-25a
or, 30 =3, ora=30.
1
10.(a) | .. 1 3 1
(i) p(5) = 6 and p(odd numbered face) = 6
(ii)  p(5 and odd numbered face) = p(5) x p(odd face)
13
676
1
T 12 1
10.(b) .
o *(R)
YO 2
/ \ € = — ‘
2w/ W)
% (R
(‘3’;9 (W)™
KN R
For first draw and second draw. 1+1

%Y
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Group "C" [10 x 4 = 40]

11. (i) Let V and F represent the set of people who like
volleyball and football respectively. Alson(V N F) =x
(ii) From Venn-diagram, —
120-x+x+85-x=125 @3 1+1
or, 205-x=125 =
or, 205-125=x
or, 80=x
Hence 80 people like to play both of the games.
1
(iii)  So, ne(V) =120-x
=120-80
=40 1
.. 40 people like to play volleyball only.
12. (i) Let the marked price of the watch be Rs. x
So, discount =20% ofx
20
=700 XXX/
X
Now price after discount =x- ©
_5x-x
-5
_4x
-5
4x 1
So, VAT =13% of?
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13 4x

=100 5
_52x
~ 500
ii N ice includi AT A, 5
(ii) ow, price including V =75 *To0
_ 400x + 52x 1
- 500
_452x
~ 500
By auestion. 2525 _ 904
(iii) y question, =g 5" =
or,  452x=904 x 500 1
904 x 500
oL XT 452 1
or, x=1000
(iv) .. Marked price of the watch is Rs 1000.
1
) ) 15+ 41 + 28 1
(i) For a piece of cloth, s= -, m
=42 cm
(i)  Area of a piece = \/s(s -a)(s-b)(s-¢) 1

= \/42(42 - 15) (42 - 41) (42 - 28) cm?

=+/42 x 27 x 1 x 14 cm?

=1/15876 cm?

=126 cm?

faforediaear aiferar, #&T 90



(iii)  Area of 10 pieces of cloth = 10 x 126 cm? = 1260

cm?
(iv) Costof1260cm?  =Rs.0.50 x 1260.
=Rs. 630
.. Total cost of the cloth is Rs. 630
14 _ 1 1 2
' T (a-1)(a-2) ' (a-2)(@-3) ' (a-3)(a-5)
_ 2a-4 2 _
" (a-1(a-2)(@-3) = (a-3)(a-5)
_ 2a-10+2a-2
B (a-1)(a-3)(a-5)
_ 4
" (a-1)(a-5)
15. Let the width of path be ‘x’ meter.

Now, Area of path = (16 + 2x) (10 + 2x) - 16 x 10
=160 + 32 x + 20x + 4x* - 160
= 4x? + 52x

But, 4x% +52x =120

or, x>+ 13x=30

or, x>+13x-30=0

or, x>+ 15x-2x-30=0

or, x(x+15)-2(x+15)=0
or, (x+15)(x-2)=0

or, x=-15,2

.. Width of the path is 2 metres.
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16. (i) Given : PQRS and PSTN are parallelograms standing | 1 (fig)
on the same base PQ and parallel lines
PQ and SM. s N, R M
To prove: area of PQRS = PSTN. U 1
p
(ii) Proof:  In A PSN and AQRM. ?
ZPSN = ZQRM [corresponding angles, PS // QR]
ZPNS = ZQMR [corresponding angles, PN // QM]
PM = QM [Opposite sides of parallelogram]
APNS = AQMR [by AAS] 1
(iii) area of (APNS = area of AQMR) [being area of
congruent triangles]
(iv) Area (APNS + trapezium PQRN = AQRM +
trapezium PQRN)
1
or, area of PQRS = area of PSTN
17.
o 1
(1) Construction of ZA = 60°, AB = 5.5 cm, AD = 4.5
cm 1
(ii)  Construction of DC =4.5,BC=5.5cm
(iii)  Construction of DB // CE 1
(iv) Area ADBC = ADBE with correct reason 1

1~
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18. (i) Correct figures 1
B A
B
A
Figure | Figure I
(ii) Fig ZACB ZAKB Remarks 1+1
L. ... degree ... degree
IL ... degree ... degree
1
(iii)  Conclusion : ZACB is double of ZAKB, standing an
same arc AB. i.e. central angle is double of inscribed
angle, standing on the same arc.
19. In the given figure, CE be the observer. BA be the height
of the pole. DC be the diameter of the pond. (i.e. correct 1
figure with description)
A
In A ° _AF
n AAEF, tan 60 =TE N
F E
11.62 -1.62 1
or, \/5 = FE !
10
or, FE=—"F
3
10
or, BC=—"F
3
or, DC =2BC
1
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%R



_20
_\/5 )
=11.54
.. Diameter of the pond is 11.54 metres.
20. (1)
X f c.f.
10-20 5 5
20-30 2 7
30-40 6 13
40-50 4 17
50-60 | 3 |20 1+1
N =20
. 3N 20 _
(ii)Qz = T =3 x T =15, so, Q3 class is 40-50. "
3N
(iii) Qs =L + & f Cth
=40+15_13X10=45
4 1
Group "D" (4 x5 =20)
21. ) r \t
1) Here CI = P(l + TOO) -P .
= 2000(1 —ﬁjs -2000
100
(ii) =2000x 1.331-2000
=Rs 662 !
Yo [aRTeE BT dTfererr, e 90



PTR
(iii) Again, SI Thn

=100
3000x2x8
- 100
= Rs 480
(iv) Now, CI-SI =Rs 662 - Rs 480
=Rs 182
CI-SI Rs. 182
(v) 5] X 100% = Rs 480 * 100%
=37.91%

Hence Cl is 37.91% more than SI.

22.

(1) Let h be the height of conical tent and r be the
radius of its base.

So, area of base = 150 x 4m? = 600 m?
(i)  mr? =600

_ 600
T

2

or, r 2

m

(iii)  Volume of the cone =150 x 20 m?
=300 m?

. 1 .,
(iv) gnrh=300

1 @h—BOO
or, 3T~ -h=

(v) h=15m

.. Hence height of the tent is 15 m.
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23. Here,a+b+c=0 1
or, a+b=-¢b+c=-a,a+c=-b
N 1 1
OW, fixa+xd T 1+xb+xct 1+x+xa 1
~ 1 1 1
B 1 1+xb+xct 1+xc+xa
1+xa+ 7,
X
_ xP 1 1
B x0+xatb+1 T T 4xbrxct 14xc+xa 1
_ xb+1 1
B x+xc+1 T 14+xo+xa
_ xb+1 1
- 1 " 1+xc+xa
xb+ 4+
X¢ 1
~ XP .x¢ + x¢ 1
- xbxC+1+x¢ 7 1+xC+x2
_ x2+x+1 1
x2a+1+x°
= 1
24, (i) Join BC, ZAEC = ZABC [angles on same arc AC] 1
(ii) In AAOD and AACB 1
ZACB = ZAOD [being angle at semicircle]
(iii) ZBAC = ZDAO [being common angle] 1
(iv) ZABC = ZODA [being remaining angles] 1
(v) ZAEC= ZODA [Given and from statementiii and iv] |1

9
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areAfdid e wign
THAT T99 97 2093

faw : stfqera fasm=
AT : QY =T quiTE : WY

AT g IE® g T |

9%

Group'A'

TART JITEwHl Gal IR AeTard | 15x1=15

a. TECATHYT AR (G) FI TRATHT AETad |
Define Universal Gravitational Constant ‘G'.

b. dreras IH TR |
State Pascal's law.

C. YA : IUTEH THIH ATIRHAT I AT HId THRH g ? A7 ACTRd |
What are the types of energy sources based on time of replacement? Write
their names.

d. o7 afe T # A
What is shortsightedness ?

e. 17fFE foreeer R faE |
Definelunit of electricity.

f. emafr SfeifeF from e |
State the Modern Periodic law.

g. TAA wiafwar dars i 7
What is combination reaction ?

h. sEEafed &9 TF AT &ReET 98 T |
Name any one base with its molecular formula.

i ATAHIITH OTAH 5 AT dTSewdhl ATH TETRe |
Write two ores of aluminium metal.

j. TOTerAT G g% TERE W [FRTEwH! A deTad |

Name two types of silkworms cultivated in Nepal.
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k. &\ 99 & & &1 7
What is hormone ?
|,  wESHd fewEy avd & 8 ?
What is choromosomal disorder ?
m. Wfeaad fRSHATE Yo T & 33 el Sl 98 Jeterd |

Name any two organisms which are reproduced by multiple fission.

n. SARadT FHH & &l ?
‘What is mutation ?
0. SIS Tl AT faAE |

Define ozone layer.

Group 'B' 13x2 =26
2. faguet o e T AU qeaeEd Ik (G el |
Study the given diagram and answer the following questions.
i SfEUET TEIH A FTETHT B §, 7
What is the weight of weighted object in air?
i, IR T GRA Bl LA (e, 7
How much upthrust is exerted by the liquid on that

iii. 9o FE=IH e FHq g 7

>

Calculate the mass of the object.
3. IGEl FeUHRUS A Ighe MEATSE W AAEATE IR T ET 3% daew
TETE |
Write any two points to justify that the urbanization brings energy crisis.
4. wEAAEHE fEEET 8% THT T AqEr 8 e g FRe detery |
Deserts are very hot during the day and very cold during the night. Give reason.
5. fesu@ T ET YERE TETHR BT 7 AHR] R KA GG AHAET RIS § ?
ATRHTHT WTSH FaATSeAR] TEEIT ¥ Athra <l FATSAH]
T Feed Ui aRTeR aTgeH, fohe 7

Ac source

Which type of transformer is given in the figure ?
Which substance is used to laminate its core?
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10.

11.

12.

13.

14.

O

The number of turns of primary coil and the number T turns of secondary coil
in a transformer are never made equal, why ? 0.5+ 0.5+ 1.0

FfeaTHATs e GRATTSH qUAHTR! I&T THEHT ACTHN HROT & &l ?
What is the cause for placing Calcium in IIA group of the modern periodic
table?

AT HEL AAA D HATHATH] TATS TRIIS, ? BIEHH AETa 4 |

How does heat enhance the rate of chemical reaction? Explain in short.

T BTSSRI FEd] AHIC ETSSIPIEAIE] B¥eh @ 7 T g3 AT (qwiar
TR |

How is saturated hydrocarbon differed from unsaturated hydrocarbon? Write
any two differences.

qEEiTE 7 Afd TANT T&T TAAAS T FAL g7 7
Excessive use of chemical fertilizers causes chemical pollution. How?
HRIATE HIE SEd ¥ IAE(qeH AN FEeaqu S HITTH & 55 PRUEE JeTed |

Honey bee is very important insect for human beings and plants. Write any two

reasons.

AR T AR fa=r B TEAET FF AT |

Write any two differences between cerebrum and cerebellum.

AYHE AT T=4 & & IUT ATATI AT, 7

What preventive measures should be adopted for the disease diabetes?
feraTeEeE® AT Soafed YR fFd wIEaTe=® g ¢ & 5 FRUEEARd qtT
TR |

Why vegetative propagation is beneficial to the farmers? Justify it with two
reasons.

IR AR [THART T TR ToaR [ohd Rawg ? SIaeh|r aui e |
Why does the tail of a comet visible when it approaches near the sun? Explain
in short.
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Group 'C' 6x3=18

15, TR f00g 7.2%1022kg T AL 1.7x106m B, I+ TraHIH] TALHT bl T Tocd
YaRT i &7 7 60 kg v TUHT ATHH! AT T=THT HT grg 7 Tl NS |
If the mass of the moon is 7.2x1022kg and radius is 1.7x106m, what will be the
acceleration due to gravity of the moon? What will be the weight on the moon
of a person having 60K g mass?
16. A% ATt faq siar qardeeadr fafirse qroawer afed fegusr g 1 9@ aifas
HTAT TR (F Jedesadl Icay deferd |
Study the given table of specific heat capacities of the three different substances
and answer the Following questions:
9214 (Substance) fafiTee aTIaRY afed (Specific heat capacity)
A 910 J/kg°C
B 380 J/kg°C
C 470 J/kg°C
i. 9erd AF RIS QIIURY 9Tfa T 910)/kg°C TR AF & B 7
What is specific heat capacity of the substance A is 910 J/kg°C ? 1
ii.  WeRT FHT U AUHT (O ATeT a&@®H] aXTaR a9 [6a1 & a&idl dIshA
AL &vg, fohel 7
Which one of the given substances will gain more temperature while
heating equal mass of all the three substances with equal amount of heat ?
Give reason. 1
i, fam e sRrer faves avqeedrs 100°C TFF TATE HNEATd (wax slab) AT
TEE B A qEl MEZaF I T b ?
Which will go down more in depth while keeping equal mass at the three
substances heated for the same temperature of 100°C and kept on a wax
slab, why ? 1
17.  ETHT e Sawar fRe=or giafmarsr TanT ®el YUR 9Ewg 7 & (a9 T

JAEX &R |
In what way we use the neutralization reaction in our daily life? Write any three
examples.
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18.

19.

20.

21.

22.

O

TTHFHT fa9 e ITAiTdaes dez e |
Write any three applications of ceramics.

TG HATHT HARA IATEH T [S&aThl FTH TAATA B A2AN TATI S, ?

How does artificial reproduction help in the excess production of fruits ?
OTHTT ATART TXET ¥ AT FEA T, 7

How would you conserve and manage the sources of water?
Group'D' 4x4=16

feguapr a=ret fepeor Y far T TR | amefe

F T AT T U Fooi@ TR | TG TS Al AT 45D B A febeltal
IR G [eheTe T IoRT ArATa=Iehl 2 Bl g Iee |

Complete the ray diagram given alongside.

Also mention the any two natures of the T /(“ F 2F
image thus formed. If the power of a hand ! ! w ! !
lens is +5D, what should be the distance 2F F

between hand lens and the book to read it

properly?

feguerr FaradT GAETLMETHT THITAT 09 gAT3H diXerl @TsUer! & | (T ageiie
TR [F geAg®Eel Joa [aard |

The given figure shows the laboratory preparation of ammonia gas. Answer the
following questions after observing the given figure.

faforediaear aiferar, #&T 90



23.

24.

[TSUsl ITFATERT FARTTATHT THIHAT WU FATSET g d=diad T
giafeRaT TTeTerd |
Write the balanced chemical reaction of laboratory preparation of ammonia

gas by this method.
BTE AT d&agad! HE [ dAlT TehlgUdhl 57 7

Why the mouth of hard glass test tube is inclined downward ?

THITAT AT 9T A/ ST I afepa, b 7

Ammonia gas cannot be collected over water. Why ?

FHEAT TS [ACHT IR FETIarel SRAT THIHAT i aRus & 9= gl
S Alheg 7

Which color of litmus paper can help to confirm that the gas jar is filled
with ammonia gas ?

FTAl T HAT T TR HATEEATE ArHHT TrATHe&HT el T &l AT @I AfcSlr
ArSel Tl FANTAR fthetergy ¥ frergy g9 sfed M1 Fdgrr I@eed |
el ATEH Feradrel a6l a9l fRAeEy ¥ fSAersd a9q49rd 9aal avns1erd |

Draw a chart to show both phenotype and genotype of the result obtained in

the first and second filial generation of offspring of mouse, having black color
and white color according to Mendel's experimental result. With the help of the

same chart write the ratio of phenotype and genotype of second generation.

HEASE ¥ TIS1d HEThae®H TUH Sid (GhrEhl ATl T =T defard |

Explain the evolution process occurred on the Mesozoic and Cenozoic era. Also

mention their differences.
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Marking Scheme
Group'A'

BIET TR Iaaw

a.

TECATRY TAATE TECATHFYI A=Y Agh AiTwg, AT I fGuAr 1 9 fao
T3 ATSTHT TEHT XA TRTIHT Bl Ueh SIGHT =T [T A Afq= =19 FeAfaw
TET HUY YR §rg, W[ UTEheAhl [HIH QAT 1 ASH o
ATATHUNT ISl AT I TATHIUT ISl ATA AGHT 0.5+0.5 AZH [
ATTHF TEATS TCRAT Tl ¥ QRN a&qdAls L Tl A9 ATEThl
FHSRIATE AT e AiAwg AT T feuar 1 5% fao

GuAeTs U Afe e it e a1 9

Jedewerl Hifdd T IATAMF UEE [qrilgeed! TRATIEE AgedTs deaigs
TZ AT TEAIT T&l I aT ANk (Hell TIaT TaT AT o= AT FiAfeharars
FATSTT gidieRar Aidwg 991 odHT 1 75% o

TITEaH BTSSIAFLE (NaOH), FNIRTH ETSSIARITEE Ca(OH), T AT FH TF
AR AUGAH T ATH FCHT 1 ASH 4

ATHTTAH ITAHT ITSE® THTEE T HeddY QW a1 I & I3 dISe®
T JdE GTIhl AT 0.5+0.5 3Tgh fad

TITAHT AT ¥ T R TEyHRaT @A fmrehr Tl Theg, S e 1 EE
faer

TARTET T=ITETE IHTEA & U ThRebl TATAAATS @A (hormone) HIT=g T
TEHT | AGH T

fe¥erer =g 9T JWdT 1 agH fad

Gfeaaet RSTaTe T T 3% ATaT SiTaeh! AT S, WISHISTH, FATHTZ S HIATE
T 9T el Jcax AGHT 9fq SId 0.5 AEHT XA 1 qGH (&

el AT SGURT ATH(HP TRATTATS FeAATT Aieweg, T TG T 1
AT e fage a1 ITadl g SIeTs AT deehl faAreT 9 9T S
1 g% fad
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Group 'B'

2.
i, ETATHT ST %I A =12+2=14N JCGHAT 0.5 AgH a7
i, TR 2N ARTERE JeA=T Fad a&THT (6w WAl oI HT 0.5 AIF fa
iii. ST TEIHT 98 m = w/g = 14/10=1.4 kg TGHT 1 AFH far

3.

i. FE& &F Feuls ATATATAR ATaewd TSl 9 |
i, @7 ifqs Afaures Terss | A9aTe ufq wad: JaE @ud 96s |
N A FA g2 qMC g AT FGHT JAF G 9§ AGHFT qXA THEAT 2
a3 fart
4, ATAATHT fAfiTST ATTLROT &THAT FH &7, | 09 FRIT ATAAT (el ared ¥ fegel Femse
79 | fagdrr 9% qrIeH g A qEr fgd arT THeer 8 T g W R
TGAT 2 ASF o

o HUSISA IHHR AWHl 0.5 AgH fad

o IERHIH B AT AT AT ATHAAT TRTH &= Tl QAT 0.5 dIF
ey

o  ITARHTH FH AC TaR@al Hiedst qiRadd 9 & | (g IFARHIAT JTEHL
FATZA T UG FEAB AR AKX TU AGHT Hledsl IRAAT Bad |
TERY IFAHHTAT YISH TAT UG FTeAH] TZEIT e I a=Ter
SATZEA AT AT 1.0 99 fo

6.  HMaAaTs ATGfAF ARATSHE ATABTR IHT THEHT TETH! HROT THBT ST
AT TAFRAR] TGEIT Tg AUHIA & TAl AGHT 2 ASH &

7. UlARART 9IS AT9EH g TL G [AAeedEl qUEE gel FAATaHE gq
SRS | A9 IfRA ¥ I FAeE g # (@l el vy | a9 amasH dedl
ETafE GiafRare! 3% Ja1d g AT ATl AT 2 AIh (ad

8.  TAW ETSSIHET T AT ETeSREAaT I [qUSE] qeATal FYh AT q7 T
¥F THT JUF HIHET AN q AGhebl a3l STFAT 2 AgH fad

TGHT BT T FIET (oA Tehel THHT HTAA T FEAGHT 5 ATar a7 fad
T &7 | ATl ave grar |
FeHT faearae gfafear 77 & | TEHT FATSTA T foearaq g9 gfafwar gese |
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9.  UHMAME WA HIEIH AFAIIA a1 fNITA T3, | TAA A AAA I JH0
TRTSH 19 148, | 9T QW7 a7 J&] o+ [HeaT a1 QW 2 AEF [

10. T2 AET BRUEE ;. Hecdqul diftds docd We YR T qd7 faeaesH W
foRaTaT TEaT T TUHTT o1 TET AT FHT T8 PR AGH 2 qEF fad

11.

EH JEEH
i. Tl STEAT, ST, T, AT AMGHN | 1. TAA IRIREATS Arel AT HT e |
AT T faaer s |
i, 7991 Sl ANED W9 FUHT | il I9E 9 dRET SRR SEediad v T
HARATHT &35 | Hfegd ATAAT T IS |
AT TS e TN HYeh FEHT 2 ASF fad
12. TYHE INETE T (AH ITUEE qIATST e
i, HIEMA "Hersd qIRE AIH T |
i, gUIT T HAUTT TR |
AT T oo T FA g% G AGHT YA 4 T WA 2 AgF {a T
13. % AEl FRUEE
o U TAH (a3 qa~ faeaesdr a9 IPRATEE IoAT TRISH Aihr, ST:
F, 3G |
e T YBRAT FIar T ANl &5 |
a1 T AT TRT ®RF AT 2 ASH fad
14, AP ATTHT FROS ToARTRT ATMEET TAEHT bl X IR Tg A Fqreer TaT
FIF! faoia feem T qeaR dfavg WAl SEHT 2 3k (o

Group'C'
15. T+ =ROTSER & AT
_ 667x107 x7.2x10% 1 5 fet
9= (1.7x10%)2
g = 1.66m/s%.....ccorerrnnn. 1 @g® fad
W =99.06 N..oovoorrvrrenrenns 1 a5 fao
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16.

17.

18.

19.

20.

i, TETd A &I faRTe araErRer afed 910 J/kg° C B WA 1 kg IS WU qETd
A FT dTIHH 1°C TEISET (AT HETIaN) 910] ATIL(HT TS0 a7 fHehrad Tg 9=
g | 1 9SF e

i. B URTd [FAHT AFHT ATTIR T ETT FH B | 1 9ZF fad

i, TRTS A FR  TFepT (RIS ATTIRE AT T TR &Y BT TG |1 AgH fad

g 3fes ST faRTeeor gfafearer TaRT aa Sd o@ar gfd a1 1 #7 a7 3

agF fod

o [HOME® TGS AR AFATT AT ATAIT 22T TANT TESH |

e HIMHE® UIHl AFAIIT ASHT TralAd AT TANT TS |

e  FHHAT AT HIEI Foreal A FTANT T & T |

RTHRTFT STANTATE® (AR a1 977 7% {9 #iTer STiTdares @

o  T=H AMIHHHAI qATSAIA HIdl TATSH

o KAl aIq T BISAMI adrsd

o [ITH AAMEE TS AT T &% JeaX JGH Uil FaT 1 H1 aA 3 AgH
et

TR AT ATANTE FIHT FJATEH T Ak, |

i, W g ANHT FAEaTH GReqo T Alheg |

i, oARE, UTRice fafredr yERT T e T4t fawares IAred T Afhg |
ar g& fAeT T F a9 a1 JEH Jiqdar 1 v 3 qEF fad

TTHTeRT FTAehl TARET TIT HALATIA [ TN AIATE T A3, |

e T YT XA RIER HelT F ¥ &R T |
QTR qUSRYT qAT faaRvT JiTier dAfeebTer T |

o Al Il FIEUH! AT HER THIH AR, STHAH qHATE TSR
T
AT AT H G AT ST TGHT FqGaT 1| AGPehT Tl 3 AGH 4T

fafirediaEor arferr, #F&T 90 '



Group ‘D'
21. T &Y @I T AT 1 AGF fad

TR a1 a5 |/ g3 ATT FaT AGHT Wi FaT 1 BT XA 2 AgH (&
i TR AT g il AT Iedl g7 |
iii, TR FEAAT AT &7 | iv. AR F I 2F B (AT a4 |

o a9 (P) = 1/f =+5D
Fgaf = 1/D=1/5 «@H0.57F fadf
q94T f = 0.2m = 20cm  AGHT 0.5 S fad

22.
i. 2NHCH Ca(OH) ___ 4 2NH +CaCl +2HO o@HT 1 #3% [
4 2 3 2 2

ii. rETaiaeE giafedr v 91 FHA o gAT g ad HEdTs qaiaR gehlesld
I IHT I 0 faY ST WS e d Aobrg Al @ HT 1 ASF [

i, AT AT GEAT FAATT B AUHT AEHT 1 ASE [

iv.  T¥STehT AT [ofedd TO% o@AT 1 STEahiad

ok fafreimear anfererr, e 90



23. T 43U o9®T =1E FATTCAT 1 dSF fad

HrET qAT T 7&T
BB bb
B b b
1 9E&F fao
qfgel 21 99 HTil—Bb Bb Bb Bb
THT—B b B b
B B6  Bb Db araT 1 o f
g HTaAl fowrar wrer g Far

tRATaTEd I 3: 1 TEHT 1 AZHia

SIS AT 1:2:1 G 1 ASH &

24. HASIEAT HETHTH] SeAARH! I, (a7 0 JdHT 1 9qgs fad qasiag
HETHTHT AT SATIRI SATaged! e a7 9+ MHedl Icax addT 1 A%
fa

FEATERET % g2 2T AFAATVAEE a7 T&T IF FaT TGHT FqaT | AghepT ael
2 9gF fad
LA HEThH BEEICIREHET
TFT AT 25 S TUATH G 6 BE | TAHT AT 6 FI€ 50 ar@ avafa g
50 9g 99 IfgdATEF {5 | ETAFATS AT |

TH HETHAH] SEAMAR &1 S([dewd! | T8 HelHTHAl HTH 99 3 |
g9 T |
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ATHISID 3TERI6

dell 90
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%) 0 2 b 0 2 b R b e &b I 2l bBle lhtle
hzh o | b o & b b & b & & b b 3 & |oab Lhtle
INTET-g
> A & b Rb |pebtb Boglpbsle 1818 %
hlbdlk ]
3 eh |2 b b | =b ®hlll Blg =
2 AN b b b b bo| ke bhbl 1812 o
B wb | % b b o leh 112 3
ox bb | & b b b 33 bl dalblb
JATIYS
> ) & b 2 lbpbk ikl 2
w3lbkslkt » boH]
> A & b b b b 3b | dlallblk Lhidh 812 %
+lPleb
> ® & ab Lbbldb] 2 klbk]
> " & b b b b | ®b Inlbk 1812 2 U1 b
bsh btk
beh | bsh | by | bsA | LBl | beh | bsh |bLBlk | bsh | beh | bk
Beh bAllke| aop | 2op | 28 | 2op | IRIR | 208 | 208 | RI8 | 208 | 2p | ap
%%k
SurA[os wa[qoId ‘SIS
Bbe|  Lpeny pue Suryuny
(113 yoIeasay pue [ed .
[BONIID) ‘QANBAID
-noeid ‘voneorddy)
. BlRlR
sk op 01 Aiiqy ) AR
(2bhy) 2l byK %l Thke] plefrlelbr Ll nhlpte) Lol Surpue)siopup)|
bbbl ®Ble lhtlol b Spmmy pue| kL dehllkk Ltlkhe) Slhalk bhdlbk pur a3pojmouyy| 12 ki bhb| Bl
AN[BA bkl kb koh BB kle Wblhk ‘ilbish] Ble » bl @lJ
%6\ | ©2llnh bhizle dlalllk @ khbkl

(beBlloh doballRbl)
Leiflb nkeelpalelk]

=4
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qoAR] [BEH | G | AgH | STHAT A HIR| GHYT [GHTA
age | fadrs
ATHT IR TS| ¥ X9 |¥X©=13c |JUk q ASHH M 9.5 A
T . FHIHT XA FHT AT
?;rl ST SreT A0 X ATOXE =90 o | faradier e TR TATHT
MW gl Ik | © IX9 |9Xq=0 |FHENT T IR d&] 99 B |
AT g AETRT THTAT J97 T, HATL
T ¥ e F
THT TFI I gATd gea?
f&ar 9% qrepT et qHae
TIAd ARTATARS] TSETT T
ek TaTh
fea |
STHAT 9 2 934 MEe
T
(%) TAARNIAT [a9d TREATHT Tl Fel GHATHIF TaAewdd I JTUaTTHISTHRT
[T ¥ &= FHESE T YeTes dled i § | IXAT JeHe® qTHI S AT
forepT ITETEH T UTSAIRAHET ATRIHE gII 3 |
(@) TZ T AT Thlg THIY 8¢ GIaT, PIaT T AT IR AT IUAe® Al Flep saawa

20

TTRUHT B | T3 AT THE THIY TATSUH YAEw (FFSHl 35 LSl dedTd Aled Alh
T AR GIRUHT B | T& © ThTg 3 ¥ ¥ AT Glel Ioa? ATIH YT IATIel ThIg 3 o1
FHTATATCHSE (= [qehl J9 FIadT 9 Tehls ¥ a1 Hed qd1 Aldalcd dedl 997
T I @ | A T TS 3 91 G q97 ATqgied deepl 97 AT T ThIg ¥ a1
qHTAEATCHSE o [qel 997 e 99 S | AT [Iq 0 THISHT T YD TeHT
qt T T AR &7 B |

THTZ & eV QIad ATHI IJeaiTcqes J97HT T@a+ fataare (Free hand method)
T ATHR YebIR (ol T FTeAh] THT BT THEE 99 Y99 659 T | TG
JIIAT AfRT, Ieay AARHT T S0 JARPTHS FHT Th HeTaeTRl W= faferare
(Free hand method) ITHTT STHR THR fHed TR THT HR TGAT [G2TH THe®
T TS Tehfeqeh T FMIT T | IcdX AHIPIhT T Hal ega"hl @Iererd
ICARATRH [FTes q@raTaT & |
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(%) ATHRETE BTG TEAfed g T GRATSAAT B T &7 FHUeT (i dgies 7,
1 Arern, fafa, |rew T gfqees a1 yfqaede fafa= aeies e & UH AN
THIA T A 7T (ability to do) TEaTE ( THE 45,9, & T & HHATE) HRIHT
Teh el a ATHr 999 Iqia 3 |

(3) 999 7. (item number) & TfEel &% TIaT IR ATSH TeHE® W, 7. q 3f@ © F#,
Fq_ﬂ—qﬁ}@d\l IR AT T9HE® 7. . :éf@‘NW?GITHT@cd( AT U9-e® 9. .
Iz &g 30 T N [ARTEErSRT qIfeerierT ATaRe 999 7. FEH THI G |

(@) famndie qrusr fafed T TERTeRE dAgFdre el AERIgH TERqadar SRR
T |

faforediaear arferer, #&r 90 |



TAWHE Ao TS
HeaTgaaa fafrdiaw<ut arfert

frandier  [aerTs Eer TANTICHS HATEH e ARSI T [TANTTCHS T[S

PESED EECd
Y

oW [weam  [qamredes [AeiArcHeE [AIHad [[qepTgeT wHAT RITRAASTT [ [Jideaad |deaeardr [qerer

S N

4 2 K FTART  [TdHT ? AT (ergra 3 R EHE

Sy

R

TIZ: qI Ffeettaa sfivaFassEr rEgr

JFRIHF HTER I © AFAWA qATHA g, dqcd fad, ek &8 T, a=gfd
qfew] g9, AT TH, Jed@rd fqeT YEeTd I, STEAH] @A, A%hl TEATA
T, AERTHE A1 TE, (2T T FHISHT Ioohte TaeR YaiT i 9aaq | Rrerese
TET, ATATR HRTHEE A &l IJUTT AIATSH Afhes, | Uedeh Uehlg fRT&T0r qo=nd
TATGHA T TFHT ThE TE] 63, |

TARTCHE HATSHA HIed : JIAT [Gamdiel s Uhrgsl R1&0r faawee Hwwar
T THFATTAREST ATTEe® TATET g TS | TIehT ATITRHT FHITEE ETHT TeATgh
THIES, |

ART, 9Fld, 997, ATEE® - ¥ ASH

o Hd: g1, AT, e o, god o, q9g @n, Ja T, A1, Jeamae,
UrEe?, HMER FZhdd, [edqu gidaeaes ¥ AHdEsE - ¥ A3h

FrprEaT HHAT RTeThe TANT TR FRIFE® : [qardiewdrs afa= TeRe IR
F, FIHETAF A, FT FA, G& TA7 AqRET [hATHATT ANGHT TRl garl
HATEHA T TART RS HUT HIA BRI, FEET, Sad T Socio metric chart
afe

el RIZAHT TCT - R ASH

RATTAT T, & GHT T Yiqaed : G THgare HRITHT U3al IRATAT H1d a
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AHENTE HA a7 &7 GHIH FEeART TRIed, faemdier agamimar, afswadar, arsEr

faTo, sraeied, awqaral, TATgE aghad, Faaad qanl T JEAAIaudrs AT
AT AT AT SATFRTT &G HATSHA T B, | T [aandier auar FwirEm faq
#raT gfqases At T YA TR TP g9 3 |

(]) TARTCHE TRET : TG (HEATTARET FTIe T G940 ¥ Hitge a7 fafad &awr
TARTCHE TLTET fofg 3 |

e yraRaral : faemdETeR deRarar - R Agw

®  TIEW ¥ YR : YA TIAH] AH[EE AT AR FIHT HHF, AT, J9TR
T qHY, Ufdelidsd axdeedl aghdd I YART, Add Tidraiaeesed AqaRu s
TRIETY T YART T Q@3 - 3 Agh
T IAITGH EIAT HITART FRIT GART T FATGH THIE, | THGEF TEETR
e (Heprell ATt Heargs T+ afheg, |
TMFT | TANTCHETR R ATTH HeATSHT T AT T§ HH H T BIRIH a1 Gl
TART T F(h B |

faraar FFRTHE AFER T TANTCHE RIS TICATSTAT T4, & FH TATITCHSE TRIETT STERT

Tfepr gfeaes % EEE3

LS 10 LS
ATH

F | | | (A k| Tk | w3 | 9| | Ak | ke | | Wk @k | Tk (o 3H[9H | | ArE| Ak
O S i T A T Lot N S O O O O O A I N A

* 9 3 = afq IH, I = IH, H = HHH, I = QA 7 =
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et TS TR (H&T-90)

THAT 99T, R0L3
(Model questions), 2073

fawar : grfsTe T (Social Studies) quiig® (Full Marks) : 75

Elis}

Q¥

THE &' (Group A)

LN

a1 ok AT 999e® (Very short answer questions) 9X =\
HE FGTa fahr e AT 5T Goddd i T ATl Jdefeld |

Write the role to be played by the state for human resource development in one
sentence.

~

ard |

T&T TR AT T % qF el SUTEE o &

>

Write any two ways to produce skilled human resource.

BT TFIRTEweh] TRETTT &l & % g3 ATdT HIZaE®  AETald |
Write any two advantages of preserving our heritages.
TATAHT ATHINSTE THLT (88 A=A SIS Ueh ART JAR T |

Prepare a slogan that creates public awareness against social problems in Nepal.

feeell TERTATHT o TEATAT TAEw Seold THEI |

Mention any two conditions of Delhi agreement.

= ~ o [N aY N ~ .
AYTTHT sl ad [dehldbledald Jodqid HUb] forar 7

When was planned development started in Nepal ?

FEATTT T &R |

What works can UNESCO do in the development of your community. Write any
two possible works.

faforediaear aiferar, #&T 90



NN

THE @’ (Group B)

[l

G.

q0.

1.

3cd¥ AT3™ J9-ew (Short answer questions) q0X¥= ¥o0

AT fabTa GEhTEH TR F & P AUAHT HIAAAHRR AARAT AR T B
fqeTer IUTIe® Soi@ THed |

What is meant byHuman Development Index; Mention any three measures to
uplift the human development status in Nepal.

A [ AN W (qHad T qeccaqu JiFs @og | I9 JAedrs 9%
ETHT Tffe T |

Local development plan plays vital role in the development of local level.Justify
this statement in four points.

TUTEHT THITAHT ATATSIAT & K FIAHHAT A AT T AAATE FTHTET TF T

I ATREH G 4T TeTHT IR (6 IR ATIeTNF qHhlde® dETeld |

A discussion is continue regarding the choice of songs and musical instruments
to be used in the programme going to be organized in your community. Mention

any four practical suggestions you would like to give to that discussion.

TART THER AFAT T &I GHDT Gea{ T T HAAG T97 AAGHT AP
SataEe ST Afde AT THTAT THTITTH F TR IUIEE Joid e

Read the following news and find out the major problems. Then mention any
four solutions to solve these type of serious problem like Human and human
organ trafficking.

AT = VT BISAT BIFT BISTHT

BT 98, FIBHTS! (FTATET GaT) | FIOG § HRAT A1 FAAAE 95 TG SIAT FHITT
FITATST T [BS# [T [AFHT 9197 (717 GRIFaT) 797 [aedi®# TIeT [aa7 aIedar
FI7TqleF FTAISTHE TIAT RIcadr | SHIHE TI7 7 TG FHITH d# FAIdrg qid T
feecdtt qeaTs Farg giaTET & qH FSTAT AT dET GrE fdr 1 g9 dfad defige diT
E77=T, STRAEIT T HIAIE S (G, FII, 7, A1) dFna@TH T §qT §7T | BT drr
R 7 aregfes afadt 7 &9 afaT greewr g | Fa@erar 83 &7 #FaraT draEr STHRar

AES

Aigdl AIPR FRAFEATATS T TAEHN TAST & & T9, 7 =R FaTH qeTerd |

What should be done to make women's rights execution more effective? Write
in four points.

fafordiaear arferer, #&r 90 R4



AES

9%.

9.

9%

qe.

JUTE PN SISPT Bl T HIEATPT AT ATTHHT FH T F@ITTHAT J&qd TR |

Guess any six months' average temperature of the place you live in and present

it in a line graph.

AHAET &1 qTe+ gTararl ¥ aqeaidel §easdlal [deudes FRU™Ed J&ld
AN [ l

Present two features each of the climate and vegetation found in the Equatorial
Region with reason.

qUTSS e UfdeTige Taq RIdTcas Telehl TH T TUHT BT | JoT THIH
ITEYT T TATAEUHT FXT & & (907 ASETHAT A&Tald |

You might have made a tour of any historical or archeological place. What were
the objectives and findings of the tour? Write in brief.

FERRATA IUThT ATTF (TP & F&l P ol T ATHRAT RIT =R AT
TeTary |

What role can be played by the co-operatives in the economic development of a
country ? Write your views in four points.

FAFT I AR TITIAT Fleel TUHT & 779 FLATHT e (a9 A1eT I369T Ioid
:‘)\ ~ l

When was the UNO established ? Mention any three objectives of this

organization.

TqHE T (Group C)

AT Jea? A3+ Yeae® (Long Answer Questions) — ¥xe=3c

9z.

<.

%

TSI IR (a5 TR ATIHATAR ASHT AALANTHT T T TR
Ar=rehl AR FHEAT ¥ IR (AT qe®AT @SR |

Give an introduction to federalism and show four similarities and four
differences between Federal Legislature and Province Legislature according to
the Constitution of Nepal.

TR TRT IATT [ THEE AT |

Draw a map of Nepal and insert the following facts in it.

faforediaear aiferar, #&T 90



fear SeT & (Tea Production area), AR fedTa( Mt.Manaslu), =T
(Lumbini), o<l 74T (River Karnali)

OR
Draw the map of North America and insert the following facts there.

TR @rel (Gulf of Mexico), It (Prairies), ¥w@eie=@ &l (River Sent
Laurence), ST wT=a&®T (San Francisco)

R0, (g [9vaug aEArRl AEAT YR {9AT | aEdrehl qrEA qard Rarss 9
qfte ¢ Ardrars ol derEe |
The Second World War was greatly guided by the feelings of revenge. Write a
letter to your friend justifying that the revenge invites destruction.

. TAUTTAT T (AR GRTEAT * HEced ==l T8 |

Discuss the potentiality and importance of hydro-electricity in Nepal.
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faftrsdierer AERTHATARST THAT TEATTRT I FHI ST P

98 “&" (Group A)

fd el I ATeT WeHe®  (7x1=7)
THT 9§ T
o  Hifg oo

o T FqEIH fasAT T

e  iHE®® FGXIT TH
o  yrfafus RTeTeaETd! azdr T
o  eAeR fagundiars @eerr § a&7 ardraxer fasr T )

R TR TE (AeAT §% F&THT SaIX oIGHT 0%, T 38l  ASF
o I Rem FWfderr wrrEET
o  AEAIFHATATAR AEAANIF qdT YTaides RTeTades @ler
o  TIHH Y= T |
3 TS T (HeET §% WIEEE® q@Hl 0¥ F 3  qTF
® AT HTHIAH HET
o g TXAT TXAT AFIRTH! ATKHT STARRI I T

e  {FIEH FRU T ATATIH! [dhTd g

~

o RITHN MRA TG |

¥, AP W& (ARl F U ART JAR GIEAT  HEF

AT Avcd T, WIAAATHT e T

A T AR A AT foheferel T Hel AT g |, faears arfsies afewepr W |
v, facll IEparEr g ST fHeaT ®9 33 G dQH 4 qSF

[ EF»%;‘?IFI T XU 55\ W NECIEECR| §3v_-|\

N fafirediaear arferar, #&T 90



~

~

o  IHTRIAAFRIA BIARITAR TS

o  SAdIgR fHaitera faara wwrer Ffaem fAHmor T

e XU YMEFHI A=A I |

ATETHT ATSTATeg faehTgert G&ard 2093 Ardare AUH! (921 991 Jeei@ AT 4 HF |
TR T THeal F g5 1T QT q qgH

o  FEETHl HIEUHT HEANT

o diferer fasrrarT WETS TRATSH

e I FATTABTHI AT TEATI

o [qUTHT FHIAHAT AT FIEAUHT ATNT TETI |

THe ¥ (Group B )

Ic

(=

IR AT q99e® (0 X ¥ = ¥0)

F ATITd & AT AP (BT AT WU TRA WIGUSATS HIFE (b
AAFTSF A | AGHT IaT ANIAP &b AN Faed] Yqeafaan, ifasd «
TAT AT ATFATS ATIR AT ASRATCHE SIHT T&q T, | AT 0 T FIa=dT 78X
AT g A1 AT ASF |

HAATIHTIHT HALATHT R T JUIEE T

o WY IATHl [aER
o  QTETTRT farehTa™T SIS

o B ATYHIF, JTART FAFREMIR! (AR, Ted FTATH faear ¥
AT G el qie=me

o IISHIEH HAGREEHT qlg AT T (Heal Iear [qaaaTHT Seoi AT 3 HSh
TeTHT T [Heal =R FTHT LT ATRAT AT q ASHFT XA ¥ ATH (6

o T R A T e ¢ S 7

o I FEHAT 9 FEHINTATHT J&fd g

o  SAHHATHT dIM9 &

2
o  JHIA! 7 FH TF &
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0.

1.

<.

qo0

o M AAIAHAATARG! [qFF FE F=ATAT &l

L4 TFRATATEEH] ATTcAD] qTaAT [T Eﬁ' |

oI AT T Wl A GHEL T T GROMAEd qehl S (Heal =% FarHr
TSI STEAT AT § AGHFT 3o ¥ ATH [

e  THF Ik AT JAT AT FART T, feheiter AT 2o Hiferss TeIaT & |
o A AT quT Maa arHr afe=n fa=g

o TUHIT FEH(cThl HXEAT &

o AT YEATA IAT A TAT AT FAHT Tl I3+ HaE TS ST

o T AT ¥ @l WAl AR T FEAL T STHT a1aeA 2 |

YA FHTRHT AU T T HET T2 GHEEE e TR Feoid THT X ATH
o  Tddl JafgEd T A AT dATT@AB! AT AT ATATIA ATTATH!

o  Tufera T TET WUHT HigeE® 5 StEATHT

o T W ¥ 8% AT HHISH WAISTHT ATH T ATHAT GRAHT SAraqaaia T
o TR TN TATAUIDA ATERTHT T TAL(RTDT AATH TR

TART STET THTATART FH AR FaT AGHT 0.4 AGHHT ¥l I AGF fae
o RN ISIRFT TFI=IHT & faahfdept AHT 2MIF TAR IR T

o I IAATHA® FRHH FoaTAA T

o  THCIH T ISR e T

o TGRS ATATERY qIR driefad

o  FYE faaer W ¥ faaer A ygfcadrs FST FIAAI HAIGRT AT T

o  TATHEEATS HETHl Fel FHRATRl T |

TeTHT T [eal =R FTHT TSI SATEAT AT q ASHFT Xl ¥ ATH (6

o  HigdTHl gHledHT SIg fad

o [IWT T THNH HETHI THATTERA IR T

o  NUH FHATeEH FAEHRI HATAITAT S fad
o ARV R HALATH] THTAR BT T
o  FHHATHIUHAT SIE fa |
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93, TR TGP TN o B HEATH! ATIHT S@TIA AR TATTHT q AgF ¥ e T4

@I S@IUH 3 ASF T IR AGH [a

afer | FemE | S ELIL a3 | Wer ELIE]
araa | 26'C [30°C |30°C | 29°C | 32°C | 32°C
GIBE R
BT FHITAD! AT A6
919 2fg rais 9w (el afeaaa)
35
30
55 / \
20 \
15
10
5
g
CEIE: I e o A | or B 1 S

9%, TEAPT ST&T T JHE TG ETATIIER T5 T aTRATThT ol [a8Taares J&aa T¢AT
T2 ASHHT ol IR AZF G |

HEIRIEICIRENERI]

et fepeor atafy faar o gTer avafe wHr g
AR [ ARTHT 99 AT | aiead= qg+
AFT BT fem o gTer THT T Sl eTaraTe aree

FATTTRT faerSar
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Y. THUH TEHT T3 IV AGH § AgH T Icll ANSUH] Fel AGH 3 AgH T AR
qgF fa |

9%, AR SIS el e =R FETHT TATh TG  ASHFN a7 AR AGH (o

AT AEHTUF] HIFHATE ATTAF (a1 gl
AT FIAAIAR] JTAN g

AT AP AIAFATE ol Fbedd &,
AT TCHT ISHERIRT HTAEE JaAed g
e [HERH 613 W
IENEUINEEEEINCH

e, FYFT IS ASHH! TTIAT ¥ AE[AT R %Y, AT AUHI AT | 99T AGHT § AGH

T FEATHT TABT S (el el [ IIG9TE® IGHT 3 AgH a7

ARG Qi AT FEAH T

e e foa=rer B A T
AHAARTFR gae= T
farepTar T |edn T T

EITAHT BrEarsil o= T

g ¥ FeEehl A I |

qHE T (Group C)

ATHT Ied? A3+ Y98 (Long Answer Question) 4x7=28

95,  SIHATT TRIEMAT AP [ TN e EIH WA qE, TIT T bR o=
AR ATSHIS T T=dATAT TR G Tgafd § AHAar &7 | T&7 Hed I
TSR =T [GUH q A fad
TAHT ST (o a7 U qgHT HARAMIRT T G AT HT fo=rdT qor=ar
TEITAT 0. AGHH! XA R ASH [

90%

T ARATIFHT qIEwR! TaTad! qi= THE & |
39 SAETRIBTAT FGET GAHl T Y, W FUT [T g
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o T FHAAMIH AAATAATAR FTAARI AT T
o  TJ HARAMHIA FLHRE AT T
o I HFRAMIHMI SAATATE JeTeT (ATt qUHT T GHINAE Trcateiared T

gfatafaes gea |

e T ATMF Tl TR T IRFRATS AEIHI T |

TRt S (0o AR #fTeT f=TdT SETUaT Uk Agehel a3l ¥ ogeh (4 |

RECIREEEIIEEal

TI9T TR

T T FHAT) &

T2 AATCHE ATEITIRT (FTArArg T4

Teh aATCHE FALITIRT -J&9T THT /I
gﬁ.

33¥ HTH B FaLT Fgu atafaasiTe! Teva Tgered
HATITRHT FELIH Fg@Tdig, Ao g
eI

AT (MRS T T 89 1A [ HET HeAlhl g ¥ gara & T

T

Q90 ST HERT HHINAS TUMATR | $0% HETEIE® FATAAINTDh TUTATRT

HATIRHT fAattad g7 ATIRHT fAattard g7

9%, WA ATHR TFR I Gobls (HATS TUTAH Tl IATH! 3 AGh T T § T ALH

q ASHRI Tl NEERT fa

OR

AT ATHRIFR [HATE Ioa¥ THNFHR! TR IANH! 3 AqGH T ToAH T AH

T AGHH T 9 ATH (a4
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R0, fadreRr AHATH AT 9 AgH
o STHANT WHHH AT FIe ¥ TATIT [q6gHT TGATHT ATEAT T
o FTATH WA ® R feaaerl 5T &
o  TEAT fATe AN AL AgHATE AMfERUT &fF I Fafr T

o IV IATAEH ATIAT Teq

A7 ¥ & (A FROEE G T gt TEAT 3 qTF
IFTSTITRT &1, AHT Tk TedTHT BATE, ATIATaharasl TeaTd T& (Heal 3
S[ETHT &T(cTehT AT Jood@ TR0 Gt AT 3 #(Teh TR STHAT 9 37eh
9. AT T AUTHT ST [TGIqHRT B 2T FATAATH JqTEE T ATS ST HEAHT
FaTe® FHE TATH TQHT O A fae

FEATAATET &l
®  FUTIAHI 53000 FAR HuETE fagga Icared T+ @l
o  ifafue sfde IFTEAT ¥ ¥3%0 HumETe

o TRl FAgdle Sl AdE® YT ad
o TEHAYATE a¥ Tale® HUHI HIRI TTHH AT qaq
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o I3 IISHI TAT AT AT FTATSH Al Wide®w aq

o fgfar et (AT T Al IAT aSIRET TFATAAT & |
HECCa R FaT

o IIUF® IHAT g

o TUTHT TN &l HRET =TT g

o I fasHT gH

o fager MHarta W faeelt Har ameia T+

o ISYIHT FafT W 397 fahrHeET FATAAT g

o  SHArH Ylqealad AT A s SAAEIR U &

o  Trerr, @, ATAATANATH fafdd &AT (G g4 T STAATRl &HATHT Jfd
Al

o  FHISHI WRISRSH! fasT g7

o AT yiafuerl IHT [k g |
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b & b b ] b b & X b S | oab lhle
T2
Lo db el AALBRIE
b b 3b 2 222 kel dhlklb | Ob
kel dklivhib
b bl b ab lbb fmpler bIREE | %
LBly) keplls
b b ab bbiok IkD ble lkeklellsd) 2
b bl =b 22112 2 kler klnklbk 0
IELEL=
b b bl =b bblin IkD BIR £BIkIA B
NI APTEYIAT
b b 2b 1B 1B1§) belie dllballh R
b ln2blble 2
b b|  =b Blka| £AElk ki leblhp 2
blek]
b b b 2 lnpblble ‘|BERbI x
bhllRllko » _..T_odr
b b| b ab LaBkbls GBIk bl B
LnelRkle 1l315) ln2klble
b b 3b 2 L@Bhbis pbrpler b
i Ieig elg babslle
lple | I2I@ | Bl | Wl | 1202 | Bile | Wl | 2@ | Bl | bl | RE | Bl
(ISEIT itk
2 bt) 1bib kad | (BIEDIK g2 'ba)llkh | (DLDIK 33 0%)Ble (DLEDIK 3%3%)blie | Rlh kR | 3leh
Fe m_mﬂsw L2lg) lneklble » laBhbls ‘kepled | khb)

bbbkt doballbbly
ekl lneblllele

q09
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TIAHT T i Fg@ | I fay THY (AT qUISH
RE
afq atere goe 19 19 99 7o X R fAMe = 3R | 99X9=1
AT IR AT T | & N R gy X ¢ fAde =13 | aX¥=3
ATHT I ATST T | % ¥ ¥ 9o X 9.4 [A¥E = 4o | ¥Xxb=Rg
R¥ RY 93Y TEE | 9y

TATTCHE HeATEH
faramdiesdl TARTcHE HATSHAH AT Y IATT AGHAR IR TRTH B | TARTHE
qgep TR R feheor T qa= THIEs,

%F) THRTHE HFER qieaad Y IF

) TANTCHE HATSHA A Y AgH W) IRATSTAT B, & FH T
gfqaa 10 #<H

o) YARTCHE TRIET Y ASH STHAT Y, ASH

TARTCHE  HATSHAS] IRASHAT 1 T &7 JHUEId d5F Yad W&l fqardi
AT FTAFRATIT GEATEH TN AT ARTAT [GUHT HTAATs THA ITOHT T Tl G |
TARTTCHE HATGHAATS WL I Gad TARCHE HeATSH A [aebTa T JHRTHT
RIES N

qog fafirediEear arferar, #er 90



THAT 99197

(Model Question)
fawr © T, STHAgen ¥ ardraryr e FET: 90
Subject: Health, Population and Environment Class: 10
qUITS Y Full Mark: 75

Tqg &% (Group A)
T gere® Aard B | (Very short questions 11X 1 =11) 19x9 = 99
Q. Sifaes q&7 qeHT ® e v

What do you mean by biodiversity aspect ?

3. BRI SFHEY Tcdl e g9 defeld |
Derive the formula of crude birth rate.
3. S URG! HEed T UTHEd |
Clarify the importance of communication.
¥, fewrell geerel & iRl Hid gfqerd qfH ST @ 7
What percentage of the total land of Nepal is in Himalayan region ?
Y. TR el Iudedrd UG Sad aars e, hEdl 7
Availability of Standard education provides quality life, how ?
%, ATENTETER! F T ITANTAT e e |
Write one use of ‘YARSA GUMBA'".
8 TS FA TPRH G F & &1
What are the types of dysentry? What are they ?
5. WOUTAHT TEH T TRAgs aradd l [ga=r THe |
Compare ‘HIV Aids and poverty in the context of Nepal' in two sentences.
Q. WTHETIE TATAE F R AT Hecd AETEld |
Write two importance of community health.

Q0. WRTETd WA el Tl & &l 7
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What do you mean by safety life style?
9. STHATE F Uk AL TSR |

Write one symptom of High Altitude sickness.

THe @ (Group B)
Short questions

Plal I ATIT T8 X ¥= 3%
Short questions: 9x4=36
93, @A, SAASEAT T AT RIEATH G&76® & &% g delard |
What are the different aspects of Health, population and environment education ?

~

93. SISl ATEIITH] JUIEE TArIed |

Write the techniques of population management.

Fgar Or

~

FATSTAT I FHHY [AHIA75, GAAET L IR |

How do total fertility rate can be obtained, clarify it.
q¥. T (g Aecae® Jeferd |

>

Write the importance of sustainable development.
. TEATAr TReTeRl ITRiedide JUmel ¥ T qeairdd qeeee! [qa=dT Tl |
Explain the ecosystem of Himalayan region and its different aspects.

9%, T SEaAE dcags & % g I qrHerd |
Specify the element of quality of life.

jaNal ~

Q9. HHE ST Afae fafaadre aeceaty g e |

What is the importance of biodiversity in human life ? Clarify it.

#4947 (OR)
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AT IO AT GIes] IAREVIhT IS fae=mr THe e |

Explain the preservation techniques of rare animals and birds in Nepal.

Y. WOTAHT AT F&ET IAMEER =1 IS8 |
List down the common communicable diseases of Nepal.

2. FRIEAT ATIAHT ATNT T IUTIE® AeTeld |

Write the techniques for safe motherhood in brief.

0. HTHAAF TEGH GAewd] ol dAr3 el |
List the different areas of community health.

A4T Or

G IddlS o=d JUMIe ofedaly |

Write the protection measures from bad habits.

THE T Group C

ATHT Icd? ATIH JeAe® ¥X9= 35

Long answer questions: 4xT7=28
9. “Faera fAmter F geeTe et far A Surewdrs e fauy s 1
IAEE R T AT el |
“We should give priority in sustainable development techniques while starting
construction and development activities." Explain with suitable example.

R U IRARATS UG SiEq Afad T4 a7 & & JIes AIA13q &7, 7
TETEd |

> =~

Write how do you help to make your family members span the quality life?

jaNal N ~

3 AT St fafagarer gt g7 Frv@fed dete |

“Nepal is rich with biodiversity." Write with reasons.

Y. It Al Aeed qu Tl |

Explain the importance of balance diet.
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q0.

.

R

9z

1%

IARR, SToIRASIRAT X dIdia=oT Bz
(3R Bf>3IdI)
TE F
T ETETIIT, HIEreh! MR o qa7 avedid T Ao ade hh
TR TR AT TGHT a1 & AT AT SeiX AWHT A g

FRT TR CBR = %1 SISHT % 9T SH=ATeR St St BTy Igenm (B)x 100 SRT 31 9
T SSH 7 qUFT Sager  (P)

GAAT, FFFENET =T YaATe TE T TGHT AT T&T AT AGT IeaA? AT

EEC

3% R gfaerd 9+ S=ET AwgF g

@, T, qHIg T I RTeT 99T JGHT a7 T2 A 19 Iy ofgdT g9 9

ATgET ATy, orfeafe et A IS AT TS Hel F U A@HT A1 Al
AT AT AT ATTAT ST TGHT AH-q

TE YHRFHT T TGAT Agh- 0.4 A T Afqadl oI@HT ogs -0 T qg% 9
P! FRO T ATTAATHT PRI AAGe® AT A AGAIH AT |
AT AFAATHT AR USH T&qT AT JREw AN Gage T AT AT Hel
TS ATH AQHT ATH-9

ATATART TXARTE, T TR IS, T HAT T adTehl Te= THTST TRl
T Hel F I TGHT AZH-q

Feafad dree fafaa smam, armHer, RN, @R wider RR aHrs a1 a%d
AT TS Iaa¥ AGHT AgH- 9

T[S AT, ATSIH] =T TG+ (ATl AR, ATkl AN AT &, Il gel HH
B | A - §
qHE @
() e () Sfazpaer
(3) WA a1 FIEHTF e (%) i e
() fostr qar wifafuas q&r (%) AATARE TS EHT ASE ¥

SIS ALATITH T= [GTAT oqgH 9

STl TETITAH JAeT T ATTE IUTIEHE TAl AGHT AGh g
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9%.

AL

9%

qe.

TSI AT IITIEE
fear feame forerr
ST CLEICEE]
FIAAT THT THITA AigdT T THRHT
ERIEISER R ASRTE FHTIAT U THET
AR (AT AR TR ST /9T

STET daTeEehl AEATCHT A3H R

EREN

FA TG qieey 4% FEl aEH A9 9

FA IS @R = Y X AR fafirse g vt ant

q000

AGT IIMEXV Fled It TRHTAGE 3 T TFT ¥ TEFH
art TFR= 5x ASFR

1000
APl IMAATART, ST, ATTRTT TeTewhl [dehTd, STATSHINIATH] AT
faerra, faespreres! fqaT Mg, e Fiid" A8 adw Y 5%
fewnTetr aiieieafqe quelrer aAT 9=g fquAT oIg® 9
ferrelr weerhr Aifaeqer, Sfaeqer, Qs qor o@ifdeE qerder faa= T
AT 3 ALh
diftaes @MY, IREARET ATHER, W@E, GRAhTs, RTa, Qe T=d, ATATE, ATHIAE
HIEHidE Hed AT, IUYHA ATATCHE [GFH AQGHTY AIH
e fafaadrer gecrars Aa SaaaTeey @A qgF 9
HECdes, HUSTd IATEA, TS IAEH, AT IATEH, T AR, JHIE,
TR Tifeafaed qoaraE, werad AER AT E & gaT dUHTAGH 3
AT ¥ ATH

SREI
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9z.

q-.

0.

1.

R

EES

QY.

1%

AT ATA=T, Tehlqeh ATATATVR] FET0T, FRIETT T TS bl AR [AHTAHT FHST
gfdaed, 3T FTAAH SATLIT T TATEFRI FTATEIA, STA=AAT ATHIRT ST FaTew
TEHT AIF ¥
AATAHT AT AUHT FIAT IR AHT QAT Agh § Tl ST, AT, TETEH,
gUTaTSiad ATl G TATCHT Ageh 3 T STFAT ¥ AZH
FEATA AT, EATAATSH, [AAAH, FARAD THGATS, ARTAA! hid TaTY
o3+, AATITCHTE, &, Hcobel TRTIA AT, TATHH] ARARTS LT ATHTATIA
AT AGHTAZH ¥
FHITIAT R g @R TRTIH! (H6Tr, I&ar a1 HeTHRl AR (a0, 4,
forerT, A faeqe RTeT ST&T FHIR AT STACHT AgH ¥

ERCH
G Tq AR AfFTHT FIq T, [Fagdrg Fies gIdnT a1, Iaqr qad
FTAFH FoaTdA T, AT ATHTA BRI BIRIATs AT ITC, IATG@R! AT TR,
Hecdtad, ASHIRIH! FaLIT T4, G FTAATS ocdled T4, a8, qrerdd,
TEAHTAI, FAT TCATAT ST T AT THE Gledd, AR [RATHATTHT ARTRIATS
JEdATE RIS, Ga¥ T &l daT AGHIAZF ¥

e T
falr faeprgept f@adTed T AECAAAT ¥ JH@IET S@ISereeul Higd Il AT
qIF 9
O S TR qEeeaAT EY Y Herdae® adl ATRAT qieanve arstEr
I AT AT & AT AT BT Gl [T AT A 8
TITAHT qTe AL, IOl JSITciiesl Fgedr T YiaeTd Seofd T qite AT 5%
N
(e AIST I=d, Hecd HIgal, ATATSTa- dieeel, G, FRET0 T qH ATe
Joet@ T AU AT ASH 9
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